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(English Version)

General Instructions ;

(1)
(ii)

(1)

(i)

(iv)

First fifteen minutes are alloted to read this question paper.

Write your Rn{l No. in figures and in words clearly on the cover-page as well as
on i‘fle.top right-hand corner of each of your answer-sheets/drawing sheets.
Facsimile of Centre Superintendent must be impressed on Your every
answer-sheet [ drawing sheets and it should also be signed by the invigilator. -
T;'he question paper is divided into three parts A, B and C. It is necessary to solve all
the parts.

PART-A

‘You hqve to answer 20 multiple choice questions either from ‘Design’ or from
Technical Drawing’ on OMR sheet.

You must indicate on OMR sheet whether you have selected ‘Design’ or ‘Technical
Drawing’.

(Design)

Note : Select one "Right” answer from given four options of multiple choice questions.

1.

What are the primary or main colours ?
{A) Red, blue and yellow

(B) Green, sky blue and yellow

(C) Black, white and brown

(D) Orange, paddy green and sky blue

Which is a hot colour ? 1
(A} Red (B) Blue

(C) Green . (D) Paddy green

How many main colours are there ? 1
(A} Three (B) Seven

(C) Two ' (D) Five

Which of the following is a secondary colour ? 1
(A) Red (B Orange

(C) Yellow (D) Blue

Which is s neutral colour pair ? 1
(A) Black and white (B) Yellow and orange

(C) Blue and red (D) Green and yellow

830 (ET) 9 P.T.0.



6.

10.

11.

12.

14.

How many colours are there in Ostwald circle ?
(A)  Eight (B) Seven
(C)  Six (D) Five

Which one of the following is a transparent colour ?
(A)  Water colour (By  Oil colour

(C)  Poster colour (D) Pastel colour

Which is the opposite colour of white ? https://www.upboardonline.com
‘A Red (B\ Black
(€' Blue (D) Yellow

Which colour is produced when yellow colour is mixed with red colour ?
(A} Orange (B) Brown
(CY  Paddy green (D)  Sky blue

Which of the following is a cool colour ?

(A) Red (B) Orange
(C3 Green (D) Yellow

How many secondary colours are there ?

(A) Six (B) Two

(C) Eight (D} Three
Which is the opposite colour of yellow colour ?

(A) Blue (B) Green

(C) White (D) Paddy green

“Kala” word belongs to which of the following language ?

(A) Hindi (B\, Sanakrit
(C) Urdu (D)  English
Which of the following pencil draws light lines ?

(A) 2H (B) 2B

(C) HB M) H

830 (ET) 10



15. Which design will be appropriate for room ceiling ? I

(A)  Corner design (BY  Central design
(C) Border design (DY None of the above
16. How many colours are there in a rainbow ? !
(A) Eight (B} Seven
(C) Six (D) Five
17.  Which design will be most suitable for the centre of floor ? | I
(A Circular (B) Triangular
(C) Rectangular (D) Hexagonal
18. Which colour is best for cloth painting ? 1
(A)  Acrylic colour (B) Poster colour
(C) Water colour . (D)  Qil colour
19. Mixture of which colours produces smoke colour ? 1
(Al Black and white {B) Blue and white
(C)  Yellow and white (D) Brown and white
20. Which of the following pencil draws dark lines ? 1
(A) 2B (By 4B
(C) 2H (D) HB
OR :
(Technical Drawing)

Note : Select one “Right” answer from given four options of multiple choice guestions.

1. Correct formula for area of a triangleis: ' 1
A) %xbaaexheisht (B) base x height
(C) 2 xbase x height (D) %xbase x height

2. Angle between two adjacent sides of a rectangle is ; 1
(A) 60° (B) 170°
© o0 (D) 100°

. 830 (ET) 1 PT.O.
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10.

11.

Diameter of a circle whose radius is ‘r’ will be :

(A} 2r (B) 3r

(C) r (D) 4r

BS | G

How many hectometres are there in a kilometre ?

(A) 10 (B) 20
(Cy 100 (D) 50
How many decimetres are there in a decametre ?
(A) 200 (B) 100
(™ 1000 (D) 400

Which of the following is not a reflex angle ?

tA) 180° ~(B)  200°

iCy 2500 (D) 270°

Centre of a circle divides the length of the longest chord (diameter) in :
(A} two equal parts (B)  two unequal parts

(C) theratioof1:2 (D) theratioof2:3

What is the angle between the radius of a circle at the tangent point and the
tangent line drawn from an external point at the tangent point ?

(A) 70° (B) 80°
(C) 80° (D) 90°
The sum of exterior angles of a triangle will be ;

(A) Three nght angles (B) Four right angles .
(C) Five right angles (D)  Six right angles

The area of a circle whose radius is 7 cm will be in square cm :

(A) Tn (B) 7x7x

(C) 77+Tn D) TxTxTx7n

If the length of & side in a square is ‘x’, then the diagonal will be :
(A) V2x (B) 2x

‘C) Jax (D) 3x

830 (ET) | 12



12.

13.

14.

15.

16.

17.

18,

Which of the following angle is an obtuse angle ?
(A) 89° (B)y 72
[y 102 (D 302

Which part of a metre is a millimetre ?
tA'  Thousandth (B)  Hundredth
(Y Tenth (D) Fiftieth

The sum of all the internal angles of a quadrilateral will be
(A} Three right angles (B)  Five right angles
(C)  Four right angles (D) Six right angles

Which is the right ratio of area of a triangle and rectangle on the same base and

between the same height ?
(A) 1:2 By 2:1
(C) 1:3 (D) 1:4

In the following figures, which is not equi-quadrilateral ?

a X
(A) a a (B) ¥ y
X
a
b c

In the following figures, which one is perpendicular divider of the line AB ?

(A) A—lhq——B B) A—<F—8

—_h
©) A—2J31—B () A—H-3

Which of the following shape or motion is not circular ?

(A) Moving electric fan (B)  Black eye ball
(C) Cycle ring (D) Water falling from a tap

830 (ET) 13
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19. How many metres are there in a hectometre ?

(A 1000 (B 100
Cr 10 (D) 10000

20. ln a watch, the small hand is on 5 and the big hand on 12. Which angle will be
formed in between the two hands ?

(A)  Obtuse angle (B} Acute angle
(CY  Straight angle (D) Reflex angle
PART-B

Construct only ome drawing from the ‘Natural Scene Painting’ or ‘Design’ or
‘Technical Drawing' of Part-B.
(Natural Scene Painting)

21. In the rectangle of 25 x 22 cm on a given drawing sheet paint a village scene.
Paint a village girl moving towards her home carrying a bundle on her head, a
hut and cow grazing grass and some birds flying in the sky.

Use water colour or pastel colour for painting. While painting, keep the following
points 1n mind :

(a} Correct structure and perspective

tb) Composition

(¢} Use of proper colours

(d) General effect and attraction

OR

(Design)
Paint in a rectangle of 20 x 16 cm a unitary design suitable for the table cloth
based on Indian flowers and buds on the given drawing sheet which consists of
attractive colour combination and best colour planning. Use at least three best
colour compositions in design.
Keep following points in your mind in design painting :
a)  Onginality of unit
ib)  Continuity of line
¢y Best colour combination
idy  General effect and attraction

OR

830 (ET) 14
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(Technical Drawing)

Instructions :

(» Attempt any three out of the following five questions. All questions have
(it} In the construction, given lines and required lines must be cloa rly shown.

equal marks.

(ttt) Do not erase construction lines.

(tv) Do all the rough work on white foolscap paper and stiteh it with your
answer-sheel. '

(a) Construct a common direct tangent on two unequal circles of radius 3 cm

and 4 cm respectively whose centres are 8 cm apart. 10
(b)  Construct an isosceles triangle ABC, Base AB = 7 cm and its height is5ecm. 10
(¢) In a semi-circle of diameter 10 em, draw a beautiful geometrical design. 10
(d)  Construct a hexagon of side 6 cm each. 10
(e)  Construct a circumcircle of triangle ABC whose sides are AB = 7 cm,

BC =6cmand AC =5cm. 10

PART-C
(Memory Drawing)

22.  This question is divided in two parts (A) and (B). Diagrams of both questions are
compulsory. 10+10=20

(A) Construct only one memory drawing with pencil from the following. Figure
must not be less than 15 em :
(a}  Guava with leaves
(b) A tomato in a plate
(c) Papaya
(d)  Brinjal with leaves
In the figure, keep following points in view :
(i)  Beauty of line drawing 4
(ii)  Proportionate figure 6

(B) Construct only one memory drawing with pencil from the following :
(ay Cup and plate
(b)  Surahi with glass

(c¢) Lantern

(d) Open book

Keep following points in view for figure construction :

(i)  Beauty of line drawing 4
(ii) Proportionate figure 6
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